H & 0l & AHS B Ml A

A J1EA
28 J1E - 2F - XE

el ZHIIE - AR (Gt H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
A 6,349,304 5,968,812 380,492
< 17,402 17,402 0
z 6,331,902 5,951,410 380,492
=g J1= - 28 - N 185,773 181,648 4,125
ZEIIE - AEINE 185,773 181,648 4,125
ZHI|E - ARpY =& 114,773 110,648 4,125
201 Let2aY| 69,233 65,108 4,125
R =23l 7,125 3,000 4,125
cGUIRAH HFEAS FE=
4,125,000 4,125 0 4,125
NE=3 699,640 600,890 98,750
SEH0 23S 699,640 600,890 98,750
=1 & 52 22 183,552 78,802 104,750
208 PR F=2| 23,552 8,802 14,750
03 A=A R =AY 23,552 8,802 14,750
o FRI FA(SS)
& 4,750,000 #4271 19,000 4,250 14,750
207 K] 110,000 70,000 40,000
01 2=l 110,000 70,000 40,000
oZ2FA AREAHI(SS)
&4 110,000,000 110,000 70,000 40,000
303 Z&= 50,000 0 50,000
01 Za= 50,000 0 50,000
o=LH| &#2X dEE
25,000,000 %23 50,000 0 50,000
NBAIR 2 23 36,260 42,260 6,000
406 J|EFHZ01E 0 6,000 6,000
01 JIEHA =01 0 6,000 26,000
o=t B53 23 02 0 6,000 6,000
TN 29 127,934 109,034 18,900
TAES 127,934 100,034 18,900
FAER F& 127,934 100,034 18,900
201 Zer= Y| 104,160 87,660 16,500
01 At 2teltl 104,160 87,660 16,500
oHEOZ Jl= 2 =4 5,000,000 5,000 0 5,000
o&dsd A2 2F
700,000 10 7,000 0 7,000
o¥8 g2== S0 M8
30,0002 %150 4,500 0 4,500
308 &= 2,400 0 2,400
01 Za= 2,400 0 2,400
oHE 28 P+FA AQUE=E
300,000 *8IH 4 2,400 0 2,400
HeasO4) 333 0 333
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2A:
X XH -
o e

=aak

JIEA
HeasOEy)
SPSONES

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
BEXE 333 0 333
BHEXE 333 0 333
802 Btz DI Et 333 0 333
02 Al - EHIEX=SEtet= 333 0 333
o204 Mete S ASIZAL AFZ(OIRFEZE)
332,870 333 0 333
oligigl 3,758,384 3,500,000 258,384
oliglsl 3,758,384 3,500,000 258,384
oligll 3,758,384 3,500,000 258,384
801 OiHIHI 3,758,384 3,500,000 258,384
02 XHoHl - A=A 068 258,384 0 258,384
oMol MHr=Hoidd]
258,384,000 258,384 0 258,384
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